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Answer ALL questions.
PART A — (10 x 2 = 20 marks)

1. What is meant by transitting?

2. What is the advantages of taking reading on both faces?
3. What do you mean by eccentric signal?
4. List out the different types of triangulation system.
5.  Define independent quantity.
6. Whatdo you mean by single angle adjustment?
1. ’Deﬁne celestial sphere.
8.  List out the various system used for measuring time.
9.  Define perspective centre. |

10. What is the primary function of a aerial camera?
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11. (a) The following observations were made in a tacheometrlc survey with staff
held vertically :
Instrument Height Staff Whole Vertical  Stadia hair
station of axis station circular angle readings
bearing
P 1.300 Q 10° 20' 20" 0°0'0" 1.05, 1.50, 1.90
P 1.400 R 70° 40' 00" +5°20'0"  1.25165  2.05
- Find the distance between @ and R and the difference in elevation
between @ and R if the values of the constants are 0 and 100'".
Or
(b) Explain how a substance bar is used with a theodolite to determine the
horizontal distance between two points.
12. (a) Find the differences in elevation of the points ‘P’ and ‘Q” and the RL of P
from the following data:
Horizontal distance between P and Q = 6000 m
Angle of depression to P at Q = 1°40' 20"
Height of signal at P=3.70 m
Height of instrument at Q = 1.25 om
Coefficient of refraction = 0.07
Rsin1"=30.88m
Reduced level of Q = 420 m.
Or
(b) Two triangulation stations ‘S” and R_are 50 km apart and having
elections 220 m and 260 m respectlvely Find the minimum height of
signal required at 'R'. The line of right is 2 m above the ground level. The
elevation of the intervening points is 180 m.
13. (a) Find the most probable values of the angles ‘A’ and B from the following

observations at a station '0'
A =9 50' 40" weight 2

B = 54° 40' 06" weight 3

A + B =64° 10' 00" weight 1.

Or
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The following are the observed values of A, B and C at a station the
angles being subject to the condition that A+B=C.

A =20°12' 28"
B =2548 12"
C =56° 00" 10"

Find the most probable values of A, B, and C.

The standard time meridian in India is 82° 30' E. If the standard time at

- any instant is 16 hours 24 minutes 6 seconds. Find the local mean time

for two places having longitudes :
1 24°E
(i) 26°W.

Or

What is equation of time? Explain with neat sketches, that vanishes four
times a year.

What is the necessity for echo-soundings? Explain briefly with its
advantages. : :

Or

Vertical photographs were taken from a height of 3200 m, the focal -
length of camera lens being 15.64 cm. If the prints were 24 cm x 26 cm
and the overlap is 60% what was the length of the air base? What would
be the scale of the print?
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